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Raising of the hands (Duchening) in %22 —ba22 %95 NMIRR

OVERVIEW
The Xn>12 teaches that one who is 1°93 X1 in 922 or eats 73217 in X0, he is NP2
73, Our ModIN qualifies the rules in reverse 222 777 N7°R1 X*7102 %9 NIRWA.

- 150 NYYIN XY D9 MNOWI NPYT
Only >"w1 is a 7111727 AP0 in 922, but not 7r N92K —

Mmoo anticipates a difficulty:
- 21329412 917 533 N>9IDT 23 YY GN)

And even though that the 7517 21°17 in X% is also J31297%; why therefore is 791 nK
X102 a 71797 APt but not 2222 191 n9OR, since they are both 331277172

mooIn responds:
- 211259 NYNY PN Y199 NI HXN 9307 X102 115 Y334 PPIPII PN

In %22 they were not as particular as to who eats 7717 as they were in X2, for

this 810 maintains ‘a conquest of an individual is considered a conquest’.
:41)3‘;77 N1 D95 MNIY) P11 NN NIV NHN NHIINY

And when the Xn»12 states that Xv7192 77917 n999K presumes a 73170 NP1, the same

ruling applies to X7102 >'"'w1 that it too confers a 712 NPT as is evident later in
the X3

SUMMARY
9222 71727 [P is only 2"wa (but not 7121 N2°OK), and by X710 it is 2w 790 NN,

THINKING IT OVER
Since now 11217 is 112771 everywhere, why are they more careful in X*110 than in 922,
as to who the 7157 is distributed to?’

! som arnin (9"m) 22 is only 13277%, however 93 XYW is XN™IRT. We are 729 to 101 from a XN™MIRT A07D PT
(only), but not from a 71277 71173 7.

% See the X3 later that 771 Tara 790 (after WX N°2 1297 is 132779 (everywhere).

? %0 is considered a 7 w123, since M7 conquered it before he conquered all of >"X proper (see "7 X,71 TU" 'O
w12°3). According to the w12°3 7w wn> w2’ 1"7 it was (initially) Xn*>7RTn 7912 207 like the rest of *"R. Therefore
(since it was originally x> 7712 27n1) they were always scrupulous as to who would eat 1771 (even after the
211 was only 1312772). However in 922 where there never was a Xn>»7IK77 721 211, they are not that as scrupulous.

4 See following Xn»72 which states, X*11021 >"'X2 121 293 NIXW1 i\l e

> See X" and w"w.



